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Pp. 407-408
14) 1.256 20) -0.61173 28) -1/8
36) 3 38) 11 48) 3

Nov 19-5:41 PM

Find the inverse. State Domain & Range for f(x) and f(x)
L f(x)=+3x12 DixxEl 2 gy X2
Difx| x> -2} RYly$zf (&2
R+ {yly203 ey
X= {3y+2 2xy+2x=Y-3
X*= 3Y+2 2X+3= Y-2xY
- X;__z D ixlxed 2x+3= y(1-2%)
) X222 P - L 2%+D
109 %52 Rigyiy2-3 Y=1x .
| _2X+
%)= =%
Degxix+3}
RYly4-13

Nov 28-7:07 AM

Solve without theuse of a calculator. Yeu must show ALL workl

3. x=logetd 4 x= Ings(ll/z'i)
7= 64 5 =
2,(=2b 5X= 5—2
Xl Y

103 -2

Nov 28-7:07 AM
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Use a calculator to find x to four decimal places.
5. x=lhgs  X= [.4650
Tox=es Xe |08 0042

6. x=log23 X=4.5230b

8. logx = 3.879

X=7578.7922

Nov 28-7:07 AM

Expand

5. ey =3{INxY)
= Flnx+ iy
4
(2x
11 ch.\z——z]

= 09 2+10g X~ 2l0g 2

++
Py
ab

= 4logx+ Zlogy-lega-log b

10. log

"
2. WXL
5

- dinx+2ny - $Inz

Nov 28-7:08 AM

Werite as a single log. Simplify if possible.

n d d

13. 3lnx - 4iny - 3Inz
Vg ¥

X
In pT
15, log(x?- 9)- (log{x + 3) + log(x - 1))
z_q‘)
= 29 O3 (-1
- \ 0 ( X_3X X+3)
9 el

n n
14. 3logx - 4logy »s%logz
= o X2
10905

16 2Inx+ 4inx 4
= Inx* InX
b
= X

Nov 28-7:08 AM
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Solve for x. Where anexact answer is not pessible, round to the nearest hundredth.

17. 25% =125 18, e*=53

A=) 3(3x+4) 53
57157 ¢ yx & = In
Ggfe g T pa

\1 5 -9
9. 87°= € 20. In(2x73):|n11‘
3(x-3 -4(1-x) I%-3=| 5
2 )= 2 IX= 14 f }
A9 = -4 +4x -7

_.5:x

3}

Nov 28-7:08 AM

21, logex+ logz3=3 22, 2logsx=6 3‘,:(33) :
by 3x=3 = £ gax s & s
%3 ) 58 eyt (X272

B 1273

=X
EEe  En
X b ()@\)LWE': Int
>
ATOS
4] s

Nov 28-7:08 AM

25. Suppose that $10,000 is invested at anannual interest rate of 5.4% compounded quarterly. How
much money will be in the account at the end of 6% years?

4.5
A-10000(1+2%)
A=514,171.50

Nov 28-7:08 AM
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26. Howold is a bone if it currently contains 20.45 grams of carbon-14 but was estimated to
originally have 80 grams of carbon-14, whose half-life is 5730 years? (A=As(3)"") Round to the

nearest hundred years. ‘( 5790
20 45+ 80(2 (t,||,300gear5)
+[s5730

\ooo (2

|0® moq) 37 #
t-= 5730I0r5€|wo

log (2 Togd

Nov 28-7:08 AM
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